

$$\frac{y'}{y^2} + y^2 \sin x = 0 \quad (1)$$

$$\frac{dy}{dx} + y^2 \sin x = 0 \Rightarrow \frac{dy}{y^2} + \sin x dx = 0$$

$$\int \frac{dy}{y^2} + \int \sin x dx = C \Rightarrow \frac{1}{y} + \cos x = C$$

$$\frac{dy}{dx} = \frac{x^2 + xy + y^2}{x^2} \quad (2)$$

$$(x^2 + xy + y^2)dx - x^2 dy = 0 \Rightarrow \begin{cases} P_{(x,y)} = x^2 + xy + y^2 \rightarrow P_{(tx,ty)} = t^2 x^2 + t^2 xy + t^2 y^2 \rightarrow \\ Q_{(x,y)} = x^2 \rightarrow Q_{(tx,ty)} = t^2 x^2 \rightarrow \end{cases}$$

$$\begin{cases} \rightarrow P_{(tx,ty)} = t^2(x^2 + xy + y^2) = t^2 P_{(x,y)} \\ \rightarrow Q_{(tx,ty)} = t^2 x^2 = t^2 Q_{(x,y)} \end{cases}$$

$$\begin{cases} P_{(1,z)} = 1 + z + z^2 \\ Q_{(1,z)} = 1 \end{cases} \Rightarrow F_{(z)} = \frac{P_{(1,z)}}{Q_{(1,z)}} = 1 + z + z^2 \Rightarrow F_{(z)} - z = z^2 + 1$$

$$P(x,y) dx - Q(x,y) dy = 0$$

$$P(tx, ty) = t^n P(x, y)$$

$$F(z) = \frac{P(1,z)}{Q(1,z)}, \quad z = y/x$$

$$\int \frac{dz}{F(z) - z} = \ln xc$$

$$\int \frac{dz}{z^2 + 1} = \ln xc \Rightarrow \arctan(z) = \ln xc \Rightarrow$$

$$\arctan\left(\frac{y}{x}\right) = \ln xc$$